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WEST BENGAL STATE UNIVERSITY
B.A. General Part-I Examination, 2021

HISTORY

PAPER: HISG-I

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfeE T F0Z TN Q"Y/VW fac Fed1
Candidates should answer in their own words AT TS ST I AT XTI
and adhere to the word limit as practicable. s R
1. Answer any five questions from the following: 2x5=10
fafeiie @-ieal #fipfs elvas Ted wiss

(a) Mention the names of two Indian archaeologists who discovered the Indus Valley
Civilization.

1 FTeroR WIsHT Yo SRR e aegRma 7% @7l

(b) Mention any two causes of the decline of the Harappan Civilization.
233! Fepe] RSt (@-(FIH i Fie S Tl

(c) How many Puranas are there? Mention the names of any two Puranas.
710 (B 9 (I I 0 2R A S A |

(d) What are the ‘Three Gems’ (Tri-Ratna)?
‘fazw e

(¢) Name the last two Jain Tirthankaras.
(1T PG (S SILFCRR A1 el |

(f) Who was the author of ‘Arthashastra’? Whose achievements are mentioned in it?
QLR I Ao ? A0 I Frored T I AR ?

(g) Who wrote the book ‘Indica’? During whose reign did he visit India?
e A0E 7T (F 2T 9 I AergPIceT fof I SN 2

(h) Who introduced the ‘Saka’ era and when?
F, TR NFA LTS FCA 9

(1) Who composed Allahabad Prasasti? Whose achievements were mentioned in this
Prasasti?

a7 218 IR o+l 9 GO I POTe T o] FLACR 9
(j) Name two books written by Harshavardhana.
o4 afoe ufb etz =i @At
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(k)

M

(m)

(n)

(0)

1062

Who was Fa-Hien? During whose reign did he visit India?
-2 (& Mo ¢ Tl Arergics fofF eiare oo ¢

Name at least two of the prominent scientists of the Gupta period.
SYY! SEO 1G] SCHAACAI (FGA (e A1 (&0 |

Who were the ‘Neo-Muslims’? Who subdued them?

9 PETN T 9 (F OIS we] FCI 2

Who was Guru Nanak?

@3 ATF (3 f2rer 2

What are Dohas? Who composed them and in what language?
i [ 2 @feT &, (I ST T S0 9

Answer any fwo questions from the following

fmfeire -l 715 e Tea we

What are the sources of ancient Indian history? Assess the significance of
archaeology in this regard.

2B SiFred QR Trviela [ F 9 @2 o avolfes Tomitas wwyg A
I

Discuss the fundamental principles of Buddhism? How did they differ from
Jainism?

T 4G o1 oS ST S T Gl T Aol e a7 F #11efey feg 9

Account for the rise of Magadha as a political power in ancient India.

2SI ©CeT Ao *ife 2 Tt TUta Fiaae s S Tt

How do you explain the decline and fall of the Mauryan Empire?
G AIFICETR S @ 21 QN FSI 1 T4 9

Is it correct to describe the Gupta Period as a ‘golden age’?

SYLIE IR ot 791 3 e 71w 9

Assess the status of women in early India.

2B SIFce [T T W=woe It

Evaluate the administrative policies of Muhammad-bin-Tuglug.
TZ-RA-9eeTtaa el AesmieER R S|

20x2 =40

4+16

10+10
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9.

10.

1062

How far was Firuz Shah Tughluq responsible for the decline of the Delhi
Sultanate?

Wz ol ASCe 7ot Recare: =12 Qe ool Wil {2 ¢

Discuss the background and impact of the Sufi Movement in India.
SIS FF W TSR € &SI S T

N.B.: Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
1 hour after end of exam. University / College authorities will not be held responsible
for wrong submission (at in proper address). Students are strongly advised not to submit
multiple copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.Sc. General Part-I Examination, 2021

MATHEMATICS

PAPER: MTMG-I
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac Fed1
Candidates should answer in their own words AR e ©IRNF I ST XA N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

GROUP-A
e+
Answer question no. 1 and any one from rest
> R e 8 @F-(FI 91T TR Ted me

1. (a) Answer any one question from the following: 2x1 =12
fAsfie @-FN @3 1% eltsm Teq el

(1) Find the smallest positive integer ‘n’ if ij =1.
—1i

193 TR Ll Wi forea e, e [lij —1 =z
—1i
(i) Find the polynomial whose zeros are 1, -2, 3.
TS e S T zeros T =@M 1, -2, 3.
(iii) Show that rank of a skew symmetric matrix cannot be 1.

18 (T skew symmetric matrix-4< rank 1 209 NI |

(b) Answer any one question from the following: 2x1 =12
feafere @-coie @6 @ T nies

(i) If o, Bare the roots of the equation x* —2x+1=0, find the equation whose
roots are ", " .

o, BT X2 —2x+1=0-93 96 T& = O FR T ey Feat 7= ey

o, p".

(i) If o, B, ¥ be the roots of the equation x* +x+1=0, then find the value of
A+a®) A+ B (1+77).
a, B, 3 x? + x+1=0 FFea Feam W@ (1+02)(1+ ) (1+7) -7
Wi fovefay e
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(i) Find the value of any third order skew-symmetric determinant.
@~ 4 order, skew-symmetric determinant-<@3 S+ e St

2. (a) If u+iv=tan(x+iy), then show that u? +v* +2ucot2x=1.

T 4+ iv=tan (x +iy) , O & F@ 1> + v + 2ucot2x=1.

(b) Prove that the sum of the 99" powers of the roots of the equation x’ —1=0 is
Zero.

@Ae @ x’ —1=0 T eralem 99-o3 qTeR @IaRF 2N %607

3. (a) Solve x* +6x* +12x—19=0, by removing the second term.
farslz #ib Remove (R I IS x° +6x% +12x—19=0.

(b) Solve by Cardan’s method : x* —12x+65=0.

TG A ST T TS x° —12x+65=0.

4. (a) Find the value of / f5f#e determinant-«3 = s Fcat —

a+b+c —c -b
—-c at+b+c —a
-b —a a+b+c

(b) (i) Show that product of two orthogonal matrices is orthogonal.
418 @, ¥ orthogonal SHITECIR @eireT 2eT @M orthogonal WG|

(i) If A be a skew symmetric matrix of order » and P be a n X 1 matrix, prove
that PYAP = 0.

M A @36 1 - order-@% skew symmetric matrix 93 P @3 1 x 1 WITH =7
O &N T PTAP = 0.

1 -1 0 2
5. (a) Find X from the matrix equation AX =B, where A=(0 1 —1|and B=|1]|.
1 1 1 7
1 -1 0 2
AX =B 200 X~ WA (W Sl @eT A={0 1 1| @R B=|1].
1 1 1 7

(b) If A is orthogonal and det(/+ A)#0, prove that (/ + A7+ 4) is skew
symmetric.

Im 4 @G orthogonal matrix @R det(/+4)z0 =, ©E@ &N
(I+A)7" I+ 4) @3 skew symmetric matrix.
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(b)

(©)

10.

1078

GROUP-B
etal-2

Answer any one question from the question no. 6 to 10
Y T CATF S0 TR ATHR W (F-(FICA 41T 2T Ted mie

Answer any two questions from the following: 3x2=16
fasfie @-ce 7 evs Teq wies
If the expression ax+ by changes to a’x’+ b’ )’ by a rotation of rectangular axes
about the origin, then prove that a” +b* =a"* +b"*.
T SRR FNCACF SFFRER IR T ax+ by ARG o X' +57) T o @ Il
a*+b*=a"* +b"”.
Find the point of intersection of the conics 1 1+ cos@ and 3 l1—cos@.
r r
fmfefe sfaeyba s et s LN cosd, NP cosd.
r r
If the ratio of the gradients of the straight lines represented by
ax® +2hxy +by* =0 is 2:3, then show that 244> =25ab .
ax® + 2hxy + by* =0 FRERA0A 2ROl SIS 2:3 20T &el SR, 24h° =25ab .
If PSP’ is a focal chord of a conic, then show that the angle between the tangents 6
at P and P’ is tan™' 2le sza , where « is the angle between the focal chord and
—e
major axis of the conic.
3w I S PSP’ G6(6 AifealiSl (i el 23 Wi @itiel el P ¢ P! [jee =i
T 19 2 tan ! 216 Y @G 2t SN Bl il wews) S i
—e
Reduce the equation 4x? +4xy+ y>—4x—2y+a=0 to its canonical form and 6
determine the nature of the locus for different values of a.
‘-3 RfST M ST, 4x% +4xy + y> —4x -2y +a=0, Ff0a aFfs ffa Fe@n
Prove that the equation of the straight lines through the origin each of which 6
makes an angle o with the straight line y = x is x* —2xysec2a+ y* =0.
IS (@ ETRTaS IRV ARy = x G A or (Pl TAT I OICHd A e,
x* —2xysec2a+ y* =0.
Show that locus of poles of tangents to the parabola ay? +2b*x=0 with respect 6
2 2
to the ellipse x—2+Z—2 =1 is the parabola ay” —2b*x=0.
a
2 2
X Y o 2 2, _
wAe @, a—2+b—2_1 ToRER MTF ay” +2b°x=0 WRred ~rEa (iR
TR 2 qy? — 2b%x =0 SkigeD|
3 Turn Over
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GROUP-C
retat-of

11.  Answer any one question from the following: 2x1 =12
fAsfie @-FN @F 1% elvsm Ted nies
(a) Show that in a triangle ABC, AB+ AC=24M , where M is the midpoint of BC.
- foee ABC-a9 &) (A1 @ AB+ AC =2AM A, @A M 2T BC A

N |

(b) Find the work done by the force F=-2i+ 37+ 4k whose point of application is
given a displacement from the point 4(2, —1, —2) to the point B(—1, 2, 3).

F =21 +3] + 4k 300 =il FopIcaa sifqmist fofy wea aiw ecsfRg ot 4(2, —
1, -2) @/ B(-1, 2, 3) Kee =)

(c) Determine a unit vector perpendicular to the plane of a=4i +3j—l€ and
B=2i-6]-3k.

@A a=4i+3]—k, f=2i—6] -3k TRES (1R G 57% K GF6 GFF (34
el e

12.  Answer any one question from the following: 3x1=3

fafeiie @-Ie @316 elvas Ted wies

(a) Find the value of &’.B+,_B>.;/+;/.& where |&|:|B|:|;/|:2 and &+3+;:6.
a. B+ B.y+y.o ARMHI W el w61, @A | |=| B|=| 7|=2 9K a+ B+ y=0.

(b) Given two vectors a=3i -7, B: 20 +j—3l€; express E in the form
B:E+E, where E is parallel to a and E is perpendicular to a.
- f=p +p, AR &M @I, @A f, N o ~aF TN GR 3, 2T
o~ TR T, REA R @ =37 — j, f=21 + j-3k.

(c) Prove that / &Sie ¢ @ —

ix(axi)+ jx(ax j)+kx(axk)=2a.

(d) Find the vector equation of the line joining the points (2, =3, —1) and (8, -1,
2).

(2, -3, -1) @ (8, —1, 2) R@ kA w@enaiba (o5a A el s

sind _sinB _sinC

(¢) In a triangle ABC prove that, , by vector method.

(o34 foreal (e @, (1 fage ABC (@ SlnA:sn;B _sinC
a c
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GROUP-D
fetol-1

Answer question no. 13 and any one from rest

S0 R W 8 (F-(FI IF6 ATIF Ted wie

13.(a) Answer any one question from the following: 2x1 =12
T @-(Fieat @316 elvex Teg wiss
(i) Solve the inequalities and represent the solution sets on the number line
2x-3=1.
fersifeTire Srieraelb STl e i St el el —
2x-3[=1.
(1) If f(x+y)=f(x)+ f(y) forall x, then prove that fis an odd function.
M f(x+y)=f(x)+ f(y) G x-G3 G, O &N I @ 19570 g0
TS|

(iii) Show that the equation x” —3x+1=0 has one root between 1 and 2.

@Ae @, x° —3x+1=0 FNF07 950 Fer 1 ¢ 2-93 ey wR_AES |

(b) Answer any one question from the following: 2x1 =2
fafeiie @-Ie @316 elvas Ted wiss

(i) If y=—"— then show that y(0)=5!.
x+1

A = xl O @ B @y, (0) =51,
X+

o o

(i) If f(x,y)=tan" L 4sin'Z then find the value of x+ y—— at the point
X y ox "~ dy
(1, 1).

I f(x,y):tan_ll+sin_1£ EXAVIS) xal+ygl—u‘1§ﬂmﬁ‘f§fw (1, 1)
X

y dx " dy
e |
(iii) Find the points on the curve y=x?—4x+9 the tangents at which passes
through the origin.
y=x’—4x+9 IGEATT T o Tpelm z@E R s @@
ety e Sfoes e
K22 22
14.(2) Prove that the curves = +2-=1 and >—+2—=1 will cut orthogonally, ifa — b 5
a’ b’ A B
=A-B.
K22 22
M8 @ &4, —2+z—2:1 aR 7+%:1 PTNIE IO (W FAE I g —
a
b=A-B A

Turn Over
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(b) What do you mean by lim f(x)=1!. Show that lirr(l) sinl does not exists.
x—a x—> X

lim f(x) =/ P & (e | (A8 (T, lirr(l)sinl 93 Y (72|

x—a X

15.(a) If u= f[lj , then show that xzuxx +2xyu,, + yzuyy =0.
X

_ Y 2 2
?lﬁ_tu—f[;j O AN PN A x7u, + 2xyu,, +yu,, =0 !

(b) Find the pedal equation of » =a(1+cos8).
r = a(1+ cos §) -43 pedal FTF=el e T

X

16.(a) Find the curvature of y =xe " at its maximum point.

y =xe " IGRITA A& [rqrs Iere! el T

(b) Ifz:exy2,x:tcost, y=tsint, then find the value of% at t:%.

o

) d. T
T z:exyz,x:tcost, y=tsint ¥, 9K jz Gq t:E mcwﬁﬁﬁf«sm
t

17.(a) Define continuity of a function f(x,y) at a point (a, b). Show that
ey =xsinteysint, (11)#(0,0)
X y
=0, (x,¥)=(0, 0)

is continuous at (0, 0).

@@ SARE f(x,y) 99 (a, b) e Feen e wel ¢Hle @,

F(ry)=xsinitysint,  (x,»)#(0,0)
X y

=0, (x,y)=(0, 0)
(0, 0) faes we)
(b) If f(xy) =xy if |x[2]y|
=—xy if [x[<[y]

Then show that f,(0,0) # f,,(0,0).

afw, f(x,y) =xy if |x[2]y]
=—xy if |x[<|y]

o eI FE A, £,,(0,0) = £,(0,0).

1078
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GROUP-E
fret-e

18.  Answer any one question from the following: 2x1 =12
feafere @-cie @6 @ T nies

(a) Evaluate: / ST foef Scae
j(x3 ) dx
i
2]
(b) For x 2 1, find j(x —[x])dx , where [x] denotes the greatest integer not greater

0
than x.

2]
x2 1A [(e-[x)dy TR IR, @ [x] T x WO TG T G D
0

el
2
(¢) The value of j (ax® +bx+c)dx dependson ............... . (Fill in the blank)
-2
2
.[(ax3 +bx + ) dx -3 (A T ST ... ol 2)f Sl
-2
19.  Answer any one question from the following: 3x1=3

fafiRe @@ 93 ara Sex nies
(a) Evaluate: / SN fasfa scane

jx log[l + lj dx
X

(b) Evaluate: / S« {57 scais

[ o2 ) _j}

(¢) Evaluate: / SN fasfa scane

1
sz(l—x)3/2 dx
0

(d) Evaluate: / 3« f5efT scats
72 Vsinx dx

'([ Vsin x ++/cosx

1078 7 Turn Over
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GROUP-F
fTenl-5
20.  Answer any one question from the following: 2x1 =12
fafeiie @-Ie @316 elvas Teg wiss

(a) dJ> 4 Y
Find the order and degree of the differential equation (d_fj + 2x[d—yj +y=2.
x x

4 7
(‘;—2{} +2x[§j + 3= 2 R e e @k U e
X X

(b) Find the differential equation of the curve y = Acos2x+ Bsin2x, where 4, B are

parameters.
A 'S B bR G y = Acos 2x + Bsin 2x IG@RIG Sreawea Wil ey et
) . . dy .
(c) Find the integrating factor of cosxd— + ysinx=1.
X

cosx%+ysinx=l—u‘]§WﬂW@‘Wl%ﬁ‘ﬁWl
X

21.  Answer any one question from the following: 4x1 =4
s @-FN @316 elvsm Ted el
(@) Solve: / 7= FAe

xdy—ydx—cosldxzo
X

(b) Solve: / N4 FCAle

dy 6x=2y-7
dx 2x+3y-6
(¢) Solve: / A« FcAle
y(+xy)dx+x(1—-xy)dy=0
. ) . d
(d) Obtain general and singular solution of y = px++/4p*+9 where p = d_y
X
d
y=px++4p>+9 (@A pzd—y) SrERel TNGEta Fge ¢ REE g e
X
M
N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in

proper address). Students are strongly advised not to submit multiple copies of the same answer
script.
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WEST BENGAL STATE UNIVERSITY
B.Sc. General Part-I Examination, 2021

BOTANY
PAPER: BOTG-I
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac Fed1
Candidates should answer in their own words AJIEAIR! e ©IRNF I ST XA N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

GROUP-A / fTet-3
1. Answer in brief: 1x8 =8

M e Teq nies

(a) What is Phycobilisome?
PRSI I = 2

(b) What is diatomite?
TICBINZE FICF T 2

(c) What is Parasexuality?
& (el Fi 2

(d) What is lytic cycle?
R{HF b & 9

(e¢) What is Fruiticose Lichen?
Fhcie s1igcw F10e (& @il 9

(f) What is Plasmid?
2APTTNG FIE A 2

(g) What is Pathotoxin?
ARG & 9

(h) Name one streptomycin producing bacteria.

G5 CZoAGIEH TeoAveTIa TRCH I I3 el |

2. Answer any one question from the following: 4x1 =4

fafeiie @-Iea @316 elvas Ted wiss

(a) What is agar? Mention its source and uses. 1+1+2
ol PICF 0T 9 G T @R [ &I |

(b) Mention the salient features of Rhodophyceae with examples. 4
Trfesel TR (AICORPIRPR 2y (A2 el

(c) Mention the salient features of Phaeophyceae with examples. 4
TriggepTe Receig i 34 (aiEre e e

OR

1022 1 Turn Over
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3.

Answer any one question from the following:
fafeiie @I @316 elvas Ted wiss
(a) Mention the source and uses of Ethanol and Penicillin.
22iieT @ (wAfafifeTcTa St @ IR Srae Fl
(b) Mention the differences between Basidiomycota and Zygomycota.

RIFFESNZIO! € TRENTZCHIGF T AL @

(c) Classify different spore forms of fungi with appropriate examples and sketches.

Toiges Trigzel @ foaiell el waites Ko eem @ex @@t e sl

Answer any one question from the following:
fafeiie @-Ie @316 elvas Teg wiss
(a) Mention the causal organism and symptoms of Tungro disease of rice.
LI+ ST R @9IFIRCRE I AR (A9 57 (310 |
(b) What do you mean by hyperplastic and hypoplastic symptoms?
RIZAEPIOS 8 QRO oTel Te70© & AN 2
(c) Define the following terms— propagule, inoculum, necrosis and blight.
R wIe— oflfaGeT, SN, (I, F2T 1
OR
Answer any one question from the following:
fafeiie @I @316 elvas Ted wiss
(a) Describe the process of transformation in bacteria.
FIFHRAT BERFACIF elfe 3wl
(b) Describe the lysogenic cycle of A-phage.
A-PICE] FNECACH N b I97eT] |
(c) Give a brief account of bacterial cell with labelled sketch.

fofze foawz bR @icaa e gt wie)

GROUP-B / fTeia-2

Answer in brief:
R Ted nies
(a) Name an aquatic species of Riccia.
Riccia-93 @ GeTer eeifos wIs el
(b) Why bryophytes are called as amphibians of the plant kingdom?
IETFIR5me Bfegw Teited Tobd 0 Sfefze T4l 83 (& 9
(c) Name one heterosporous pteridophyte.
GG SCHY 2] (BRITCIRPIZCEE IS (F1C2 |
(d) What is ligule?
farfoiCe f 9
(e) Mention one fern character of Cycas sp.
Cycas sp.-3 Q3 I+l a2y el
(f) What is ‘Sulphur Shower’?
‘Sulphur Shower’ F1CF ¢ ?
(g) What is impression?
B PICF 0T 9

1022 2
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10.

11.

(h) What is meant by “form genus”?
“Form genus” J¢109 & @9

Answer any one question from the following:
fafeiie @-Ie @316 elvas Teg wiss
(a) State important characters of Hepaticopsida.

AP e (el Soad Fe

(b) Draw the labelled diagram of L.S. of capsule of Funaria sp.

Funaria sp.-93 S17(eT 790520 fbg w8 |

(c) Briefly describe the structure of gametophyte of Anthoceros sp.
Anthoceros sp.-43 feea@ Bfeww 10w SRTFCo 01 SN

OR
Answer any one question from the following:

fsEke @-it 9t 2via Ted wies

(a) Describe the structure of sporangium of Dryopteris with labelled sketches.

fofzse g @GR (Dryopteris)-93 #fHee @EAR 915+ 0 T

(b) Mention the salient features of Sphenophyta.
Sphenophyta-7 4y (AREyefer @eal|
(c) Mention salient features of Psilophyta.
Psilophyta-7 4 (gt ea|
OR

Answer any one question from the following:
fafeiie @-Iea @316 elvas Ted wiss
(a) Mention important characters of Coniferophyta.
Coniferophyta -93 2« (aFZrafer Srae T
(b) Describe male cone of Cycas sp.
Cycas sp.-43 7R (FI« &3 I wie |

(c) Mention the salient features of Progymnosperms.

Progymnosperms -3 < (AZyfeT (=1eal |

Answer any one question from the following:
fafeiie @-Iea @316 elvas Ted wiss

(a) Write the importance of fossil study.
G ATCHT PG SACID B |

(b) Write a short note on Williamsonia Sewardiana.

Williamsonia Sewardiana-93 790% 7% BiFt @13t

GROUP-C / eia-4t

Answer in brief: / e Teg nies

(a) Draw a diagram of quincuncial aestivation.

FEAPIAPRIE ZEARTIER @6 oa & wea |

(b) Define paleo palynology.
2% #iR15iCae] [Rwyie Fkes wie )

1022 3

3x1=3

3x1=3

3x1=3

4x1 =4

Ix6=16

Turn Over



B.Sc./Part-1/Gen./BOTG-1/2021

(c) What is Spadix?
GG PICT T 9
(d) What type of fruit is found in Cucurbitaceae?
Cucurbitaceae (NCa4 [ 4@1a T #lle7 T 2
(¢) What is the full form of ICBN?
ICBN-7 379} 9IS el |

() Why Bentham and Hooker’s system of classification is called natural system of
classification?

(B S TFIF IS AR GeNTICT Freifs & K @it e 21 (et 2

12.  Answer any one question from the following:
fafeiie @-Ie @316 elvas Teg wiss
(a) Write short note on: (i) Cyathium (ii) Hypanthodium.
BRI @ealls (1) AR, (i) 2RISR
(b) Write notes on staminate, pistillate, neuter and nude flowers with examples.

Tlzel RN 2R 5%, Bopot, TP QR 7 790 T |

OR

13.  Answer any one question from the following:
fafeiie @-Iea @316 elvas Ted wiss
(a) Mention the applications of Palynology.
SApifercetistiaie elcel Tear Set|
(b) Write brief notes on Palynotaxonomy and neo-palynology.

AT @R F7-2=i5iRe [t 71 ke Bt @eal

14.  Answer any three questions from the following:

fafeiie @-cpiea fofs elvss Tes mes

(a) Mention the diagnostic features of Malvaceae with examples.
Malvaceae (IGaa FAGPIA! (AIBy el Srizgeiz Sra 1|

(b) Mention the diagnostic features of Lamiaceae.
Lamiaceae (olIGaa F&RIal (AMiByfer =Teal |

(c) Compare Natural and Phylogeneic system of classification.
Natural and Phylogeneic GITRTICR Qo1 SCENH=1 S0 |

(d) Mention the diagnostic features of Poaceae. Give the scientific name of one
economically important plant.

Poaceae (7It@d JMesdl [AMEel Smd I@ @3 olgd @Fh g ewgsd
Tfgena AN (e

(e) Write a note on author’s citation.
Author’s citation 7HCH @30 BIF! @FTCA |
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